

TABULATION OF TENDERS

TENDER NO. 6757

FOR: Micro-Surfacing Treatment (South Central - South Western)

ROAD NO.:BRIDGE SITE NO.:LOCATION:Reston-Dominion City-Rosser-McTavish and OsborneAreaLENGTH:180

			<u>SUMMA</u>	RY OF PRICES				
CONTRACTOR	SECTION 1	SECTION 2	SECTION 3	SECTION 4	SECTION 5	SECTION 6	BID TOTAL	
MSO Construction Limited	1,265,520.00	1,010,850.00	60,000.00	464,800.00	257,985.00	850,080.00	3,909,235.00	
West-Can Seal Coating Inc.	1,373,663.20	1,053,554.10	45,806.70	427,529.20	206,130.15	855,058.40	3,961,741.75	
Nelson River Construction Inc.	1,433,160.00	1,100,205.00	47,835.00	446,460.00	215,257.50	892,920.00	4,135,837.50	

2017-04-11



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (So	LC	OAD NO.: DCATION: Resto ENGTH: 180	on-Dominion City-	Rosser-McTavisł	BI and Osborne Are	BRIDGE SITE NO.: Area				
SECTION I: Micro-Surfacing Treatmo	ent (South Central -	South Wes	, LC	OAD NO.: 2 DCATION: Vicini ENGTH:	ity of Reston		W	EGION 2 ORK ORDER NC ROJECT NO.: 74		
			NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDD	ER
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.) Extra Work (formerly Extra Work)	880 1	t \$	1,404.00 30,000.00	1,235,520.00 30,000.00	1,526.89 30,000.00	1,343,663.20 30,000.00	1,594.50 30,000.00	1,403,160.00 30,000.00		
				1,265,520.00		1,373,663.20		1,433,160.00		0.00
	BID TOTAL			3,909,235.00		3,961,741.75		4,135,837.50		0.00



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (So	outh Central - South	Western)	L	DAD NO.: DCATION: Rest ENGTH: 180	ton-Dominion City-I	Rosser-McTavish		BRIDGE SITE NO.: e Area				
SECTION II: Micro-Surfacing Treatm	, L(ROAD NO.: 200 LOCATION: Vicinity of Dominion City LENGTH:				REGION 2 WORK ORDER NO.: J01772 PROJECT NO.: 7357						
			NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER			
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
Micro-Surfacing (Oil Supplied by Cont.)	690	t	1,465.00	1,010,850.00	1,526.89	1,053,554.10	1,594.50	1,100,205.00				
				1,010,850.00		1,053,554.10		1,100,205.00		0.00		
		3,909,235.00		3,961,741.75		4,135,837.50		0.00				



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (So	outh Central - South	Western	۔ د	DAD NO.: DCATION: Rest ENGTH: 180	ton-Dominion City-F	Rosser-McTavish		BRIDGE SITE NO.: Area				
SECTION III: Micro-Surfacing Treatm	Ĺ	DAD NO.: 221 DCATION: Vicir ENGTH:	nity of Rosser		W	REGION 2 WORK ORDER NO.: J02811 PROJECT NO.: 7399						
	Γ		NAME OF BI		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER		NAME OF BIDD	ER		
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
Micro-Surfacing (Oil Supplied by Cont.)	30	t	2,000.00	60,000.00	1,526.89	45,806.70	1,594.50	47,835.00				
				60,000.00		45,806.70		47,835.00		0.00		
		3,909,235.00		3,961,741.75		4,135,837.50		0.00				



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (S	South Central - South	Western	Ĺ	DAD NO.: DCATION: Rest ENGTH: 180	ton-Dominion City-F	Rosser-McTavish		BRIDGE SITE NO.: Area				
SECTION IV: Micro-Surfacing Treat	LC	DAD NO.: 221 DCATION: Vicir ENGTH:	nity of Rosser		REGION 2 WORK ORDER NO.: J01781 PROJECT NO.: 6643							
			-	NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER West-Can Seal Coating Inc.		DER truction Inc.	NAME OF BIDD	ER		
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
Micro-Surfacing (Oil Supplied by Cont.)	280	t	1,660.00	464,800.00	1,526.89	427,529.20	1,594.50	446,460.00				
				464,800.00		427,529.20		446,460.00		0.00		
		3,909,235.00		3,961,741.75		4,135,837.50		0.00				



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (Se	outh Central - South	Western	, LC	DAD NO.: DCATION: Rest ENGTH: 180	ton-Dominion City-F	Rosser-McTavish		BRIDGE SITE NO.: e Area				
SECTION V: Micro-Surfacing Treatn	Ĺ	DAD NO.: 330 DCATION: Vicir NGTH:	nity of McTavish		REGION 2 WORK ORDER NO.: J02871 PROJECT NO.: 5081							
			NAME OF BI				NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER			
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
Micro-Surfacing (Oil Supplied by Cont.)	135	t	1,911.00	257,985.00	1,526.89	206,130.15	1,594.50	215,257.50				
				257,985.00		206,130.15		215,257.50		0.00		
BID TOTAL				3,909,235.00		3,961,741.75		4,135,837.50		0.00		



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (S	outh Central - South	Western	۔ د	OAD NO.: OCATION: Rest ENGTH: 180	ton-Dominion City-F	Rosser-McTavish		BRIDGE SITE NO.: e Area				
SECTION VI: Micro-Surfacing Treat	Ĺ	OAD NO.: 330 DCATION: Vicir ENGTH:	nity of Osborne		REGION 2 WORK ORDER NO.: J02997 PROJECT NO.: 7979							
			-	NAME OF BIDDER MSO Construction Limited		NAME OF BIDDER West-Can Seal Coating Inc.		truction Inc.	NAME OF BIDD	ER		
DESCRIPTION OF WORK	I OF WORK QUANTITIES UNIT		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
Micro-Surfacing (Oil Supplied by Cont.)	560	t	1,518.00	850,080.00	1,526.89	855,058.40	1,594.50	892,920.00				
				850,080.00		855,058.40		892,920.00		0.00		
BID TOTAL				3,909,235.00		3,961,741.75		4,135,837.50		0.00		